Trigonometry Worksheet 8 - Answers
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Refer to Figure 1 to complete the ques-
tions 1 - 6 to prove the Law of Sines.

1.

Find sin a.

no = &
SIn v = B

Find sin 3.
sinf = %

Solve for x in terms of [.
x = Asin 5.

Solve for z in terms of a.
r = Bsina.

Prove the Law of Sines.

: _ : sina __ sinf
Asin3 = Bsina = 5% = >3

In a triangle, side x is opposite a 23° an-
gle and a side length of 17 is opposite a
38° angle. What 10.69

7.

10.

In a triangle where the side opposite a
104° angle has length 5, find the length
of the side opposite a 42° angle.

3.45

. An angle of 65° is contained in between

two sides of lengths 12 and 14. What is
the side opposite the 65° angle?
14.10

. In a triangle with adjacent sides of

length 10 and 22, and the included an-
gle measuring 17°, find the length of the
third side.
b=12.71

A triangle has side lengths of 18, 23,
and 31. What is the measure of the an-

gle opposite the side of length 187
34.92°
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